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19, TTETE a1 =T Rrviett staan?
AT B) =it C) ey D) wet
20. AT + BT AT IETAT Gieler Get=r qrg garg fraer.

A)TsTsRoT B) a0t
- C) st D) dsterur
21. ST AT YT fog ferit wieg, wiuTan?
A)W"f " B)ueR C)wisgir D) &t
22, %mmﬁv‘qﬁmaﬂ% mmﬁamma&gﬁﬂm
A) st ' B) fereret
C) @ . D)d¥ae

23, UR AEHENA ERET wew. O aeEwie fraae st o giad
A)fqed B) e C) ke D) %@

24, FTTEHT AT B =TT Fef— |
A) w0 B) are &

- OTheE Sl

26, ——-- Yamuna is ————-—- tr:butary of the Ganges

A)The,a = B) The, an
C) no article, a - D) The, The
27. 1 met him accident during my visit-— Mumbai.
A) in, to B)at,in . C)by,to  D)on,in
28. Use correct word in the sentence. We--——-- obey our parents,
A) should - B)can . C) will D) must

29. 'Fi'qm the given sentence, _locate the discourse marker (Linker)
Still, the youngster cast the trotline far into the water
A) still B) the C) into . D) trotline

T19:C20A. 21-A 22-B,23-D,24-A,25-D, 26—A27—C 28-D,29-A
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30. From the given sentence, locate the discourse marle,

(Linker)
It turned out to be a very rare form of pancreatic cancer.
A) rare B) it C)tobe - D) of
31. Which is the correct synonym for abundant
A) suitable : B) abandon
C) sufficient D) ample
32. Choose the correct word from the following.
A) Lieutenant B) Leftnent
C) Leuftnant D) Leiutenant
33. The dictionary meaning of the word Zenith is -——--
A) joyful | B) name of utensil
C) the highest point. D) crown
34. The meaning of beech is -
A) sea shore- B) a tree
C) an animal : D) a vegetable
35. Choose the incorrect sounds or cries of -animals from the
following. _
A) deer-bells B) elephant-trumpets
C) frog-croaks D) dog-roar
36. Choose the correct word from the following.
A) Commitee £ B) Committi
- C) Committee D) Commiitee
37. The citizens made their way— the rear gate—- the garden.
A)to,of  B)to, for C) from, to D) for, in
38. The important thing is — listen-— them and change our
ways. |
A) to, for 3 : B) to, to
C) to, with , - D) to no article

B

30-3,31-0,3Z-A,,33_-C',34-.-353S-;D,SG.-_C;S:‘?;A;?,_S_B o
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30, government had no obligation to provide—---hetter
service. .
A) A, no article B) The, a
CO)A,a D) The, no article

40. In-—-- new India, communications has hecome---- great
leveller. :
A)a,a B) the, the C) the, a D) a, the

41. My watch—-- repairing. ( choose the correct simple present
tenSe)
A) need B) needs- C) needed D) is needing

42. Constant telephone contact....customers kept the company

close—- the market.

A) with, to B) to, with C) to, to D) from, with
43. Choose the correct alternative from those given bhelow:

A) Man is social being  B) The man is social being

| C) A man is a social being D) Man is a social being

'44._ Select the correct meaning of the word error.

A) wrong | B) true C) mistake D) incorrect
45. Choose the correct alternative from those given below:

1don’t think I him yet.
A) have been meeting B) met
- C) have met D) will meet
46. It is time for the shops——- |
A) should be closed B) to have been closed
C) to being closed D) to be closed
47. The heirs of the ----—-- government scrvent will get the
benefit. y : ;
A) diseased | B) deceased
C) diceased D) deseased

B S

 39-D,40-B,41-B,42-A 43-D,44-C 45-C,46-D,47-B ]
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48. None but a fool would say this. Pick the correct choice from
below for this sentence.
A) If he were a fool he would say this
B) A fool would say this
C) Only a fool would say this
. D) Not even a fool would say this.
49. Choose the word nearest in meaning to the key word

‘Deployment.’
A) dismissing B) deception
C)tosend - ' - D) using effectively

50. Choose the expression that explains the given word correctly.
- ‘Monogamy.’ !
A) State of being unmarried
B) State of being married
C) Practice of being married to only one person at a time.

D) Paractice of marrying two husbands or wives at a time.
51. 3ffer . ¥ TH QAT o Tel—- T TEFET a9,
A) 3RUATER B) qreehrar
. D) fige

,éé;;ﬁﬁﬁﬁmmmm-_--ﬁ gy

A) 890 © B)990

C) 830 D) 850 |
. 54, femredt foreama i et A2 I,

A)Te _ B) Tiaa

C) feiret D) ¥

_ 48-C,49-D,50-C,51:B, 52.D, 53.A, 54B j'f
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55. Aty A= I-——— a1 fireana ziven ag= Tt famarde ——
- AT AT B S A A

- A) 9, gang B) srepten, sz
C) geterm, e D)z, e
56. Sl a1 Q@M ITHEA Hio?
A) SRy - B)uF
C) i | D) ehear

57. amﬁmwiamﬁqﬁﬁm-—-ﬂvﬁmmm
A) 05 s B) 15 sq C) 05 s D) 15 =
58. WIS AT AT i ——— ARA.

A)THAFTRH B) w11 7
- C) feraeh weier D) 1. . Zmiz
59. HETEHT e STt e i
A) TFEr - B) I
- O D) viidiare
60. Terg=r TreT= iferd SgAFT— T AT
- AT ERET B) AR Ui
C) g ve D) 3T G1E
61. TERTER 15 Gel U ———N ABEAw.
A)wHs : B) e
C)sma D) witer aiterr
62. fiiett ot forfirelt fimiias —— Tt wwedl.
A) 01 71998 B) 01 % 1999
C) 011996 D) 01 % 2001
63. fayar aRuT—— “TEIaT ATHUAT el ATE.
A)tmm B)w%ay C) guif - D)
64. feer ufiwe, fmidi Srers—— 3T - |
A gEATT S B) WIS @re
- C) ereites e D) st Heges

SS-A 56-D, 57—A 58-C, 59-B 60-—C 61-D,62-B,63-C,64-C

A, i N, L
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65. femiter feamedier 4 Wiiewi® — HATed

A) Fa Fmsd B) g5l eRiel

C) farerm Tiar D) TR Foaeh
66. IAATATET AHUEH HIUT HEATA 2

A) JaaE

C)’{'I'EE'-'EFIT

A)m ﬁamm ‘

O
68. wmmmmawmmw
JqEt?
A) 700 - 1000 1 B) 1000 - 5000
C) 10000 - 25000 D) 25000 teqr ST
69. TE TAT—— & WER Aigaw &4
A)6 B) 7/12 C) 7- D) 79
70. A U HIUT S BT Tetell AT ST a1 21a?
- A) SRINRIAT ST  B) Sia=aitt SRR
C) Sraen=gi-il T=Tret D) sqor=ait Teten.
71. femrett foeaneier Fafiia TRu=Ee S ?
A) srEreT 93T’ B) St SRR
C) e - D) @ _
72. @t IATHE el FBAreT fendisTe e e—— - e
A) i, FEUER W B) €. &t. T. =iue
C) 2. Hie T D) 2. uSiq fermarR -
73. S TS UTSTATT BRAWEl ATt ST T A g
A) FEGH WSS B) @A AHRIES |
 C) fov=e st _ D) Sfesrem FREe
74. g, FIE FATET WIS hiek A3 AT FEUTH HIIET HRT HIATA?
A) Tl B) 7w fezomren C)ﬁa D) & ~ferumre

65-D,66-C,67-A,68-C, 69-A 7[]-B 71-]) 72 D 73 C 74—
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75. TGRS @ 311511?!31"‘1?{______3

A) uRemmategs B) woiemdd
C) Wi D) afifafe
76. —— ¥ FERTET Uit T g,
AA) TGRS <RI B) visar s
C) AR 2O D) st verrer
77. TR, = i aon arefter e wro,
A) T=R 31T S sRissy B) e 31t sifrecidies st
C) U 5ol s Te=ide D) e i ey Sy
78. STt TR = S ST ST Tt i,
A) 8/64 B) 13/196
L L Llal ———

4. D ?55
.BC:E::GK: ‘?mﬁwmﬁﬁmuﬁqsﬁ;
AN B) I C)R D) P

81. ABC : BCE : CEH :? WSATI-2T=AT ST QUTRT 99T 1.
| A) IIK B) EHJ C) HIL D) EHL
82. 1 firex wust datda (Fws) et E=. |
A)40.00  B)39.50  ()39.37 D) 40.10
83. T HHAR W ST Ity 544 S, 9 | ST worRn?
A)34g36 - | B) 22524
C)42 544 D) 32934

84. 3,59 79 uNTer SrwaT At Ut 1 AT 4 7 Aoy sy 0 3
AT TR T AT HIUTA 2 -

A) 316 - B)216 €)136:, . - D)436
85. 3w siwmer CM an it fewa feat?

A) 1100 - B) 1000

C) 10000 D) 500

. 75-B,76-D,77-B,78-B,79-D,80-C,81-D,82-C,83-D,84-A 85-A
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86. gawr 7 ot v fovents forenvdt @ frevior i o VAT 21ty
ferelt. —oe and Breentelt sund O 1 wad g v 2016207 Aert g
Frefidt s e, we el frenadid et wua aduh feodr
A) 44 13) 45 )46 1)) 54

87. war aniter Rvealt wel sndar varon 14 wud e vl B Yoy
T T, Tt ugen Wit 324 waa scaedn aan i b y7
an%?r’

A) 16 B) 18 C) 24 1D)36

88. it a 2uer aiear fowedts it 3 1 7 k. s e P 447

R A, A Gt fi fadt?

A) 126 B) 189
C) 252 ' D) 315

89. 3t Wil AT 96 @ avtrRt 24 2, av @iy it e
A)4:1 B)4:5
C)1:4 D)5:3

90. b firsy axvepeT itz ek anfin wfae 86 : 14 2r waromm zmk. fmmars
AT GO SV TYGITer S STy St it wmor 58 : 42 77,

S AT e fada g A v e A e 47 e wae
I qr w2

A)1:3 . B)2:3
C)3:4 D)3:5
91. et AT @Sy 2.5 Wt ¥ guear Sar wot 5 ot AT, AT =T
ARATAT SAGSicier Gl ot <t. W.?
A)2.5 - (BY6.25 - C)4 D) 4.10

92. e FaentoweAT g Ay P ufét ar, uferr s dee
- ererdt sy o < Pretorreh uRfredt 16.1 eft srreara wn frarom
- gudt a fedt Q2

A) 4.6 B)2.3
C) 6.9 D) 9.2
e 3‘@3,37__1),33_-]3,89;.1),90-A,91-B,92-A T ,J
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93 THT TITATAT T AT 8 61 7 FA 6 W wEE T4 5 6 A,
'—mvmnmii Smmmmmmmwmmw

A) 240331:7127, B) 168 gz
C) 120 g95=7 D) 72 g2z

94. 50 411 & 7 30 |1 £ WG, FAET T AE T AT AGAE AT
AT g HET ATAT AATA TAel 2 W T2 76 AT JTH 791
#a%a fdr?

A) 1344 <my B) 160 =
C) 1500 < D) 1244 =t

95. Wit a =2, b = -3, ¢ = -1/2 AT WAt YT HIOTAT 5= {Haq 6
A2 |
A) 3a%-2b B)a+b+c
C)2a®+b+2c . - - Dyai+ b+
96. a =2 aufur b = -5 AT T AT WICATAGHT FHIOTAT TFTAT HHA
16 = @w?
A)2a+ 3y B) 2a - 3y C)3a-2y D) 3a +2y
97. (a+8) (a-3) ¥ TG SAWUIR I WIATATHT HIVTAI 2

A)a’+5a-24 B) a’ + 5a + 24
C)a*- Sa’— 24 D) a?- 5a +24

98. 5w a=3c+4, b=a-4ac=153dd, TW2a+3b -2 c=fEr
A)33.5 Bya75: . "CYHS DY T:5

99. b 7 a = e 3T AT C oz A ¢ =2 A,
@ (2a- b + ¢)* = fowdi? |
A)4 B) 6 C)8 D) 10

100, et IR~ & ~—— a7 pH FATEHE FHTdRa 3.
A)73537.45 B)7.1572 C)635%645 D) 6.75 7 6.85

kdkk

[ 93:D,94-A,95-C,96-C,97-A,98-B,99-C,100-A
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